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DAILY PRACTICE PROBLEMS

CLASS : XIth SUBJECT : MATHS
DATE : DPP NO. :8

TOpiC «~RELATIONS AND FUNCTIONS

1. The function f:R—R given by f(x) = x> —1 s
a) A one-one function b) An onto function
c) A bijection d) Neither one-one nor onto

2. Let[x] denote the greatest integer < x.If f(x) = [x]and g(x) = |x|, then the value off(g(g))

—9(f(=2))is

a)2 b)-2 1 d)-1
3. The domain of the function f(x) = Cofg]lx is
a)[—1,0)u {1} b)[-1, 1] Al-11) d) None of these

1 - 1
4. The set of values of x for which of the function f(x) = -+ 2°" gy — exists is

a)R b)R — {0} YN0} d) None of these

5. If f(x) satisfies the relation 2f(x) +f(1 — x) = x? for all real x, then f(x) is
)x2+2x—1 b)x2+2x—1

2 _ 2 _
= = )x +4x—1 d)x 3x+1

a 3 6

C

6. Ifthe function f(x) is defined by f(x) = a + bxand f" = fff.... (repeatedr times), then f"(x) is

equal to
a)a+b'x b)ar + b'x c) ar + bx" d) a(l;:__ll) +b'x
-1
7. If f(x) =7 then f(2x) is
F) +1 3F(0) +1 F(0) +3 F(x) + 3
)70+ 3 b) T3 Vo1 D3 +1

8. If f(x) is an odd periodic function with period 2, then f(4) equals
a)0 b) 2 c) 4 d)-4
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9.

ﬂ@=1%m(

10.

11.

12.
13.

14.

The domain of definition of

x—1 1 .
X , 1S
x+5) x*—36

a)(—,0) —{—-6}  b)(0,0) —{1,6} c) (1, ) — {6}
The domain of the function f(x) = log,(logs (logs x))is
a) (—,4) b) (4, «) c) (0,4)

Let f(x) = |x—2| + |x — 3] +|x — 4| and g(x) = x + 1. Then,
a) g(x)is an even function

b) g(x)is an odd function

c) g(x) is neither even nor odd

d) g(x) is periodic

d)[1,00) — {6}

d) (1, )

If a function f :[2, ©0)—B defined by f(x) = x* —4 x + 5 is a bijection, then B =

a) R b)[1, ) c) [4, ©)

d) [5, o)

Ris relation on N given by R = {(x, ¥):4x + 3y = 20}. Which of the following belongs to R?

a) (-4,12) b) (5, 0) (3,4

If f:R—R be a mapping defined by f(x) = x3 +5, then f~(x) is equal to

a) (x +5)/3 b) (x — 5)1/3 9 (5 — )13

d)(2,4)

d)5—x

15. Let f(x) = x and g(x) = |x| for all x € R. Then, the function ¢ (x) satisfying [¢(x) — f(x)]? +
[p(x) — g =0

16.

a) d(x) = x,x € [0, )
b)p(x) =xxER

) d(x) = —xx € (— ,0]
d)p(x)=x+|x|,xER

In a function f(x) is defined for x € [0, 1], then the function f(2 x + 3) is defined for

a)x €[0,1] b)x€[—3/2, —1] C)x€ER
17. If f(x) = x* —2|x| and
Min{f(t): —2<t<x}, —2<x<0
900:[ hg];i{)jf(t) 0 SSx},} 0<x<3 -theng()equlas
(x> —2x, —2<x<-1
-1, —1<x<0
a) 0, 0<x<2
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| x®2+2x, 2<x<3

(x2+2x, —2<x<-1
-1, —1<x<0

b) 0,0<x<1

| x2—2x, 1<x<3
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d)xe[—3/2,1]
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x>+ 2x, —2<x<-0
) x?—2x, 0<x<3

X2 +2x, —2<x<0
4| 0, 0<x<2

x?—2x, 2<x<3

18. Let R be the set of real numbers and the mapping f:R—R and g:R—R be defined by f(x) =5 —
x%and g(x) = 3x — 4, then the value of (fog)(— 1) is

a)-44 b)-54 c)-32 d)-64
e"z — e""2
19. f:R—Ris defined by f(x) = — g is
e e

a) One-one but not onto

b) Many-one but onto

c) One-one and onto

d) Neither one-one nor onto

20. Let f:N—N defined by f(x) = x> +x + 1, x € N, then f is
a) One-one onto b) Many-one onto c) One -one butnotonto d)  None of these
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